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. Let GG be a 2-connected graph but not a triangle, and let e be an edge
of G. Show that either G — e or G/e is again 2-connected.

(a) Show that every cubic 3-edge connected graph is 3 connected.

(b) Show that a graph is cubic and 3-connected if and only if it can
constructed from a K4 by successive applications of the following
operation: subdivide two edges by inserting a new vertex on each
of them, and join the two new subdividing vertices by an edge.

. For k > 2 show that every k-connected graph of order at least 2k
contains a cycle of length at least 2k.



